William Barnes Whole
School Bar

Modelling Progression



Year Group R

Context — Making the link between real objects, Context - Moving from concrete to abstract
pictures and apparatus. with paper strips.

Context — Children represent their bonds to five Context — Children use bar models to
using counters, numerals and bars represent 10s frames and learn about the
commutative law.
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Year Group 1

Context

Context

Numbers to 10 - Whole part model - Number bonds
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Introducing multiplication and division
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T have ten sweets and share them amongs

5 children. How many do they get each?
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Jack had a quarter of a bag of apples.

How many were in the full bag?
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Number bonds to 20. Match the

bar model to the number sentence.
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Year Group 2
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Jane has three quarters of a bag of sweets.

She has 15 sweets. How many sweets are in
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a full bag?

Jane has one quarter of a bag of sweets.

She has 15 sweets. How many sweets are in
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Context Context
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Chris drinks 2/3 of a bottle of lemonade.

If he drinks 160ml, how much is in the full bottle.
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There are 15 girls and 7 boys in a class. If they
are split between two classrooms, how many are

there in each classroom?
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A bag of oranges cost £1.20. How much

is one orange?
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Sally has 32 stickers. # are dogs, 3 are cats and
the rest are rabbits? How many of the stickers

are rabbits?
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Year Group 5
Context Context
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Chris has a bag of 34 sweets. If he eats 7
each week for three weeks, how many does he
left in the bag?
24
[7[7 [7 ¢
AH-3Ix7 = |3
ANS: |3 sweekts




Year Group 6
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Find the missing angle a
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In a sale prices are lowered by 20%. If a phone
costs £36 in the sale, what was the original
price?
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5/6 of a number is 35. What is the number?
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At a disco, the ratio of boys to girls is 4:3. If
there are 63 children at the dance, how many

are girls?
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In a tin % the biscuits are chocolate, 1/9 are
digestive, 1/3 are custard creams and the rest
are gingernuts. If there are 36 biscuits, How
many are gingernuts?
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Jane has a bag of marbles. She gives 1/3 to
Robert and one quarter of what she has left to
James. She has 24 marbles left. How many
marbles did she have to start with?
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